
Activity 8
Poppy 146 + 72 = 218
Stripe 65 + 230 = 295
Floral 114 + 425 = 539
Scroll 218 + 124 = 342
Wave 142 + 375 = 517
Train 136 + 180 = 316
Swirl 19 + 380 = 399
United 245 + 245 = 490
Birds 153 + 77 = 230
Fern 307 + 108 = 415
Feather 256 + 248 = 504

Activity 9
1 437 2 999 3 898 4 629 5 908
6 810 7 578 8 611 9 922

Activity 10
Large mahogany 475 − 231 = 244
Medium mahogany 568 − 333 = 235
Small mahogany 356 − 215 = 141
Large beech 640 − 235 = 405
Medium beech 347 − 162 = 185
Small beech 241 − 175 = 66
Large ash 205 − 63 = 142
Medium ash 327 − 188 = 139
Small ash 402 − 276 = 126

Activity 11
Paintbrushes 5, 10, 15, 20, 25, 30, 35, 40, 45, 

50, 55, 60, 65
Tins of paint 8, 16, 24, 32, 40, 48, 56, 64, 72, 

80, 88, 96
Curtain poles 7, 14, 21, 28, 35, 42, 49, 56, 63, 

70, 77 
Fence posts 9, 18, 27, 36, 45, 54, 63, 72, 81, 

90, 99
Nails 100, 200, 300, 400, 500, 600, 700,

800, 900, 1000
Door knobs 50, 100, 150, 200, 250, 300, 350,

400, 450, 500, 550
Work gloves 20, 40, 60, 80, 100, 120, 140, 160,

180, 200, 220
Wallpaper 25, 50, 75, 100, 125, 150, 175, 200,

225, 250, 275

Activity 12
Small red 36 × 2 = 72
Medium red 24 × 3 = 72
Large red 16 × 5 = 80
Small blue 36 × 4 = 144
Medium blue 24 × 6 = 144
Large blue 16 × 7 = 112
Small white 36 × 8 = 288
Medium white 24 × 7 = 168
Large white 16 × 9 = 144

Activity 13
Orchard 14 boxes of 8 rolls = 112 rolls
Fruit 35 boxes of 8 rolls = 280 rolls
Grapes 72 boxes of 6 rolls = 432 rolls
Circles 64 boxes of 6 rolls = 384 rolls
Spirals 58 boxes of 4 rolls = 232 rolls
Spots 29 boxes of 4 rolls = 116 rolls
Squares 53 boxes of 6 rolls = 318 rolls
Nursery 27 boxes of 8 rolls = 216 rolls

Activity 14
28 ÷ 2 = 14 boxes of 2 tiles
23 ÷ 2 = 11 r 1 = 11 boxes of 2 + 1 more tile 
18 ÷ 3 = 6 boxes of 3 tiles
25 ÷ 3 = 8 r 1 = 8 boxes of 3 + 1 more tile
36 ÷ 4 = 9 boxes of tiles
45 ÷ 4 = 11 r 1 = 11 boxes of 4 tiles + 1 more tile
64 ÷ 5 = 12 r 4 = 12 boxes of 5 tiles + 4 more tiles
70 ÷ 5 = 14 boxes of tiles

Activity 15
1 Walsall 8 miles 4
2 Wolverhampton 14 miles 9
3 Coventry 18 miles 10
4 Bromsgrove 13 miles 8
5 Sutton Coldfield 6 miles 2
6 Smethwick 3 miles 1
7 Brownhills 12 miles 7
8 Aldridge 9 miles 5
9 Bilston 10 miles 6

10 Halesowen 7 miles 3

Activity 16
Halesowen 7 × 65p = 455p = £4.55
Smethwick 3 × 65p = 195p = £1.95
Sutton Coldfield 6 × 65p = 390p = £3.90
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